SD = 2 f x?

N
— X
X = Zf = 1102:11.02
Ne 100
52e=fo2—§e2=%—(11.02)2=6.79

Ne 100

Standard Deviation

X% —
SD = ZTf —xe2=+/128.24-121.44 =+/6.79 = 2.60



Mean

Y= 2f5 _ 1026_ 1026
Ne 100

Xc=1026

Variance

2
S2e = 2 fx _Xe2=1262 0506736
Ne 100

Standard Deviation

D fxr -
SD = v xc2=+/112.62-105.26 =2.71

t-test

(X -X, (N, + N, =2)(N,N,)

IN,—-N, =
1 2 \/(N1512+N2S22XN1+N2)

_ (11.02-10.26),/(100 + 100 — 2)(100x100) _ 501

J{100x(260)* +100(2.71) (200)




Mean

Y= 2 fx 1034 ~10.34
Ne 100

Xc=1034

Variance

2, 11408

S2% = - Xc 10.34)
Ne 100
=114.08-106.91
S= 1717

Standard Deviation

ShT
SD = Y —xe2=+/114.08-106.91 = 2.67



Mean

Y= 2fx_970_ 09.70
Ne 100

Xc=0970

Variance

2
s2e= 2 %o _10010_ (59 7y
Ne 100
= 10010~ 94.09
$2=6.01

Standard Deviation

S5 oo
SD = N —xc2=46.01=2.45

t-test

(X1‘X2)\/(N1 +N2_2)(N1N2)

TN, —N, =
1 2 \/(lelz +N2522XN1 +N2)

(10.34-9.70),/(100 + 100 — 2)(100x100)

J100x(2.67) +100(2.45)* (200)

1.75



